Приложение 1.

Решение самостоятельной работы по группам:
1 группа:

Решение: а1 =1; а40 =196;  Sn =  (а1 + аn)/2∙n;  S40 = [image: image2.png]T X 40 = 3940




2 группа:

Решение: х1 =7; х2 =10; d =3; 

Sn[image: image4.png]7+(n—1)x3
2




=(7n+3n2-3n)/2=(4n+3n2)/2=2n+1.5n2
3 группа:

Решение: х1 =6; х80 =322; Sn=(x1 + xn)/2∙n;

S80 = [image: image6.png]S X 80 = 13120




4 группа:

Решение: 

1.74 – не является. 

2.а1 =1000; а2 =990; d=-10; аn = а1 + d (n-1); аn = 1000-10(n-1)=1000-10n+10=1010-10n.

3. S60 = [image: image8.png]


=30∙60=1800
